
I Soli L1:/ 
1+-51/4"-+1 /" 

/ 
1+1-1-------34 3/4" ---+----...... 

~ 
~ IC 

-

T
23 1/4" /' 

INCORPORATED 
# ary NAME 

1/ 2/ %" X %" X 14" Bar ".". 
2/ 2< %" x~" X 21" Bar ,,-­
3/ 1/

! %" x ~" x 22 3/8" Bar /' 
4/ 1 .­ - 1 '!nil X 1 '!nil X %" Anole / 
5/ 2/ 1 '!nil X 1 %" X 'Y4" Anale/ 
6 / 2 .... 5/16" 88 Coupling Nut 7 
7 r 1/ 'Y4" x 3;';" 88 Ground Stud /' 
8 7 12 ....­ 3/8" x 3" Studs ,,--­
9/ 1 ;' 1" x 3 X 1/8" Plate / 
10 ;/ 1 ;' 4" x 6" x 1/8" Plate / 
1f7 1 /' 1 ~,. X 1/8" Washer"'­
127 
13/ 

1/" 
L·" 

~" Lift Handle ,/ 

1 '!h" x '!n" SS Penta Head Bolt.­
11­ 1 15:" ~(( /III:-rrca )< t+ 5;> e,""aol"\""e.ll,J ~ 5s n" 

t 3 "-+l / / 1114"1++1'" Ir-------- 34 1/2" • l..­

11/2" x 118" Washer wi 5/8" Hole 
Welded in Hole l" 1 ~/. (loll' 1/ 

,,, '2- 1""'c..'C'11 ~ 
>-----,-,...., / 

/
@ 

4"· 6"
 

Ground·Stud
1-/8"""~ wi Nut .e: ....~"'2... WOI.,>he.r-5 /- S,5, 

233 Standard Duty 



FO§ITE 
INCORPORATED 

233 Framf /' 
5/8"-11 THREADED INSERT 
TYPICAL (~) PLACES 

F-r.r_l\!""I-~~ 

#4 Rebar /
40" X 32" /32"

/ 
3 On Each Side / 

........	 (1) # 4 Rebar - ­
Wired to Std 

"	 (3) #4 Rebar 
1 3/4" Apart 

I~~-------- 44" -/--------+.1 

A PROVED 
Washington State 
Department ot Transportation 
HQ Traffic Op8rations Office233 Standard Duty	 '\ }11
DATE De-c.'!;."" b &or 1..;1.009 



WT. lBS 

4x4 - W4.DxW4.0 1 SEE DETAIL 2 51.0 

4x4 - W4.0XW4.0 1 SEE DETAIL 2 51.0 

4x4 - W4.DxW4.0 1 SEE DETAIL 2 S1.0 

BILL OF llATERWS (srm. RE-flAR .t WElDED WIRE IlESH) 

llECRIPTION QTY SIZE 

ASTM A706 GRADE 5010 STRAIGHT 2'-4" 
ASTM A706 GRADE 60 6 STRAIGHT 2'-8" 

3 ASTM A706 GRADE 60 4 SEE DRAWING 

3 ASTll A705 GRADE 60 4 STRAIGHT 2'-3" 

3 ASTM A706 GRADE 50 6 STRAIGHT 2'-0" 

3 ASTll A706 GRADE 50 5 SEE DRAWING 

'3 ASTM A706 GRADE 60 2 STRAIGHT 3'-3" 

E"Jtw "3>,\\~rr 
~"."'l.~ h(",~ I) 

~'S\w ~, l\ <.. t>T­
Covc.r ­ ~-\-."'"'f 

DESIGN PARAMffiRS: 
- MsHTO STANDARD SPECIFlCATIONS FOR HIGHWAY BRIDGES 
- ACI-318-02 BUILDING CODE 
- ASTM C857 MINIMUM STRUCruRAl DESIGN LOADING FOR 

UNDERGROUND PRECAST CONCRffi unuJY STRUCnJRES 

~: 

'b 
I 

;., 

2 STEEL MESH ISOMETRIC 
51 3/4" = 1'-0" 

/ f'-..r--.. 
///

!'-..j"-..t'-,j"-..
~,/ /v y

r--...j"-..r--...j"-..r--.."//V//V / 
r--...!'---r--..!'---r--..!'---r--..t'-,v/VV /v / 
r--...!'---r--..!'---r--..!'---r--..t'-,j"-.. .......V /v / 
!'-..!'---r--..!'---r--..!'---r--..r--. <'"v/
!'-..j"-..r--..r--..r--.. 

~r--.. 

j"-..::::: -­
V"....... ...... 

~V) ....... !'-..j"-..t'-,r--..r--.. "/ 
V r--..r--..r--...r--..!'---r--.. ......1'-/~/V I( <'" 

r--..r--..r--..r--...r--..!'---r--..r--.. ~v/v/ /" 
r--.."r--..!,---r--..~1'-/~/V//v 

r--..r--..~r--.. ~V/[AY 

'" 7 , 

1'-/~/ 6t1' 

NOTES: V ,/ 
tl'L SHOP CUT WElDED WIRE MESH FOR BlOCKOUTS. PROVIDE'3 TRIMMING BARS 0 & @ 

AROUND BlOCKOUTS AS SHOWN. 

1'-6" 

3'-8" / 

TOP VIEW 

~.6"' SUMP W/2"' . / 
DRAIN HOLE V 

SECTION VIEW 

1'-11" 

1'-0" 

'>? "> :~:..~:,:J'~~~~~~I~~"~~r~:~- ~,~;t; ~VANurD ~NG IRON 

;., ~'0;~ --- -t-- --i ~~ --t- --­ q: /--(1) EA END (2 REQ'Di'~ 

~~:,:.. ~:__1__ __ L 1_ ;/(:\. 

2'-8"	 150 pel CONCRffi DENSITY
 
120 pet SOIL DENSITY
 
AASHTO H-35-S28 WHEEL LOAD W/30:; IMPACT
SIDE VIEW 

. AASHTO LNE LOAD SURCHARGE (2' SOIL)APPROVED AS NOTED 
EFFECTNE SOIL PRESSURE = 45 pel

Washington State NO WATERTABlE 

Department of Transportation MATERIALS:
HQ Traffic o-¥-erations Office CONCRffi - 28 DAY C()I,IPRESSlON STRENGTH It = 6000 psi 

REBAR - ASTll A705 GRADE 60 fy = 60 ksi (WELIWlLE)DATE 1""" Ftu~"c,+ '" "'l. o~7 
I 

fF 
1., 

I'b NI 
N 

• 1'-0" OVERLAP FOR PART' .,/ 

ASTM A82/A185 fy = 65 ksi (WElDED WIRE MESH)
 
THE ROLLS OF WElDED WIRE MESH SH.6LL BE STRAIGHTENED &
 
CUT TO SIZE BEFORE PLACEMENT.
 
¥." DLAMOND PLATE COVER - ASTM A36 Fy = 36 ksi
 

SOIL COVER: 
NO SOIL COVER - TOP OF COVER It GRADE 

TYPE 233 PULL BOX (H35) 

SEE DETAILS
 
S1.0
 

06106
 

FOGTITE
 
INCORPORATED 

0\ 
,l:. "'$ 

SoLO 

~ 

~\06106\Strueturol\Type 233 Pull Box - H35.dwg I Droller Nome: K. TERRELL I Plot Dote: FIll 20 2007 10:51:12 I Lost Modified Dote: FIll 20 2007 09:16:07 I Submittal: PROGRESS PRINT 




